Thursday October 17 troop 2' The product of all reduced residue classes (mod p 15 (p-i)! = -1 (mod p) by Recall from Tuesday: Wilson's theorem. Let's pour these closes: Définition- IE p 13 an ord prime, define · Fas every (b,p)=1, there's & unkne the Legendre symbol (a) as (2,p)=1 such that be=> (modp). (A) = SI, If a is > quadrablic residue (mod p), -I, If > is > quadrablic D, If pla. (Indeed, c= 6'a (mot p).) This is > true possible ($b \equiv c^2 a (m p)$.). · If bis poind with thet the bib = 2 (nodp), 25 62 ED (motp). - A 2 is 2 gusdratic nonresidue, then Theorem: If p is on old prime, then $\left(\frac{2}{p}\right) = \partial_{p}^{(p-1)/2} \left(\mu \partial_{p}\right)$ $-1 = (p - 0!) = (\frac{p-1}{2} pr + b, c muttpla))$ $(\stackrel{)}{=} = \frac{(p \cdot \bar{p})_2}{(m \cdot p)}.$ (pla cose is obvious, so zosune pta) Praf 1: Euler's criterion: X== (mot p) $-\frac{1}{p} = -1 \equiv (p - N) \equiv (bY - b) \begin{pmatrix} p - 3 \\ 2 \end{pmatrix} p > 1 rs)$ $-\frac{1}{p} = -1 \equiv (p - N) \equiv (bY - b) \begin{pmatrix} p - 3 \\ 2 \end{pmatrix} rs)$ $= -a - a \begin{pmatrix} p - 3 \end{pmatrix} z = -a \\ r \end{pmatrix} (motp),$ has $2 = 1 \pmod{p}$, $\frac{1}{2} = 1 \pmod{p}$, has $2 = 1 \pmod{p}$, $\frac{1}{2} = 1 \pmod{p}$.

Observation: Since each guadradic residue has everly 2 square rosts, $= 1 \cdot 2 \cdots E_{2}^{1} (-E_{2}^{1}) \cdots (-2) (-2) (-1)$ those are exactly 2 quadrathe residues $= (p_{-1}^{-1})^{1} \cdot (-1)^{(p_{-1})/2} (p_{-1}^{-1})^{1}$ and hence 2 quadrotic nonrestances, = (p-1)2 · 1 (mod p) Special case of Theorem: a=-1. These (P-1) is a square root of -1. By Theorem, (-1)=(-1)/2 (mod p). Example (playing a similar example)? = 51, TO p=1 (mod 4), 1-1, 5 p=3 (mod 4). p=23, < p=1/2 = 11. $2''''_{1!} = 2''(1\cdot 2\cdot \cdots \cdot 11) = (2\cdot 4\cdot 6\cdot \cdots \cdot 22)$ Shoe both sides are ±1, in fact $\equiv 2.4.6.8.10.(-11)(-3)(-7)(-5)(-3)(-2)$ $\begin{pmatrix} -1\\ p \end{pmatrix} = \begin{bmatrix} 1\\ p \end{bmatrix}$, of p=1 (mo) 4], $\begin{pmatrix} -1\\ p \end{bmatrix} = \begin{bmatrix} -1\\ p \end{bmatrix}$, of p=-1 (mo) 4]. = 11.2 (-1) (mont 23); so Domple: X2 =- 1 Land 102 has no solutions 2"= CD°=1 (mod 23). But by Theorem but N==-) (uno) 109 has 2 solutions. Fun trick: Suppose p=1 (mm) 4). 25 to happens: (solutions are tS (mor 23)) $\binom{2}{2} = 1.$ Thes

$$\frac{1}{1 + corem:} \begin{pmatrix} 2 \\ p \end{pmatrix} = \begin{split} & S_{1} & \text{if } p \equiv 1 & \text{or } 7 & (mod 8), \\ & 1 - 1, & p \equiv 3 & \text{or } 5 & (mod 8). \end{split}$$
on then count how many ended up in the clight hatf. Formula: $\binom{2}{p} = \binom{2}{-D^2 - 0/8}$ Similar arguments can show that (2) depends only on p (mod 4/21). Prof: Let $\alpha = \frac{p-1}{2}$. Using the some But theirs & mote relationship regument as in the previous example, that does shi a st once: $\binom{2}{p}\alpha! \equiv 2\alpha! = 2.4.6...(2\alpha)$ Quadratic Reciprocity Theorem: = al.(-1) (mod p), where If pand q are of primer then $r = \# \{ 1 \le j \le \alpha : 2j > 2j \}$ Then check coses: $r = \frac{5(p-1)/4}{(p+1)/4}$, if $p = 1 (mo)^{2/4}$, $(\frac{2}{9}\sqrt{\frac{2}{9}}) = (-1)^{\frac{p}{2}}$. $(\frac{1}{2}\sqrt{\frac{2}{9}}) = (-1)^{\frac{p}{2}}$. So (2)-(2) wher either porg is 1(mold): and check the theorem in each case. Concelling the d! gives $(\frac{2}{p}) = (-D)$. Picture: $(\frac{p/z}{2}) \xrightarrow{\times 2} (\frac{1}{2} + \frac{1}{2}) \xrightarrow{\times 2} (\frac{1}{2} + \frac{1}{2} + \frac{1}{2}) \xrightarrow{\times 2} (\frac{1}{2} + \frac{1}{$ $\left(\frac{P}{q}\right) = \left(\frac{Q}{q}\right)$ when both $p \equiv q \equiv 3 \pmod{4}$.

where r=#JKEF: (4,2) & RS. Thood is, D TT a = (-1) TT k (morp) 6,6)=2 ket TILA (mod pa)) = (a (mod p), o (mod a)) 1 $\begin{array}{c} (z) \\ (z) \\ (z_{2}b) \\ (z$ Court how many dots end ph R. Notation. $\alpha = \frac{p-1}{2}$ and $\beta = \frac{q-1}{2}$ Claims: we will show
• Ltis of ① = (-1)^B (mor) p) · F = 2 | ≤ k < pq ; (k, pq) = 1 } (mod pq) · L = { 1 < 2 < p - 1 } × { 1 < b < 3 < · 4415 of (2) = (-) ~ (mo) A) (prom) (q com) · R+15 of (1) = (-1) (-1) (2) (mor p) For my TILL = Ck (nor p), k (mod q)), either (k, k) = L, or (k, k) & R on then · RHS f (2) = (-1) (-1) (2) (mod 2), (-k,-k)eL. Assuming the chains: D becomes Chack: The (k,k) < L and the E-k-k) < L $(-D^{\beta} = (-D^{\beta}(-D^{\beta}(\frac{1}{p})) \rightarrow (-D^{\beta}(\frac{1}{p}))$ postectly till L. Therefore: The D becomes $(-)S^{B}(-S) = (-)S(-)S(-) = (-)S^{P}(-)$. $TT(a,b) = TT(k,k) \cdot (-N),$ $(a,b) \in L \qquad k \in F (Cnod P, mod R)$ E CVUD J-T(K)

Claims: we will show · LHS of (1) = (-1)^B (mod p) / Useful hack: $\beta = q-1$ $-1 \equiv (q-1)! = \prod_{k=1}^{17} k \cdot \prod_{k=k=1}^{17} k$ · LHS of (2) = (-1) (mo) a) $\equiv \beta' \cdot \tilde{T}((q-k)GI)$ $R + 15 P (1) = (-1)^{1} (-1$ k=B+1 · RHS f (2) = (-1) (-1) (2) (mod 2), = p! p! C-D' (moda); () TT a = C-1) TT k (morp) 6,6)∈2 k<F</p> So (231) = (-1)^{R+1} (mol R). $\begin{array}{c} \textcircled{2} & TT & b = (-1)^{\circ} TT & (mod q). \\ (a,b) \in L & k \in F \\ \hline \end{array}$ $\cdot LHS f(2) := (\prod_{k=1}^{p} b)^{p-1}$ $= (\beta \beta^{2})^{2} - (\beta \beta^{2})^{2}$ L= ディショミレージ×ディション $\begin{aligned} & & \text{LHS of } O = \left(\begin{array}{c} p - r \\ T \\ a \end{array} \right)^{B} & \begin{array}{c} B \\ a = r \end{array} \end{aligned}$ $=((-D)^{s+1})^{s}=(-D^{s})^{s}(-D^{s})^{s}$ We'll do PHISS & D and 2 on Tuesday $= ((P-D!)^{\beta} \equiv (-D)^{\beta}$ Slight complication because by Wilton's theorem. F= { | < k < 2 : (k pg)=1 {.